CABSTD7L.DGN  5/4/06

CAD FLE -

THE CLEAR ZONE IS DEFINED AS THE AREA BEHIND AN
END TERMINAL THAT IS AVAILABLE FOR SAFE USE BY

DIAPHRAGM PLATE ERRANT VEHICLES.
Part No. C1435G
TOP & BQTTOM (2 POSITIONS) ‘CLEAR ZONE' THE SIZE OF THE CLEAR ZONE IS DEPENDANT UPON

DESIGN SPEED, TRAFFIC VOLUME, AND ROADSIDE
GEOMETRY (CROSS-SLOPE).

THE ROAD DESIGNER SHALL SPECFY CLEAR ZONE
DIMENSIONS TO COMPLY WITH THE REQUIREMENTS
OF THE RELEVANT STATE ROAD AUTHORITY.

O STEEL YIELDING PQOST
/ Part No. C(1796G
(POSTS 3 TO 6)

INGAL BLOCK
Part No. (1422
(POSTS 2 TO 6)

1250

665

400

DIRECTION OF TRAFFIC ——=

PLAN VEW
POINT OF NEED (POST 3)
BULL NOSE WITH SLOTS
FOR DIAPHRAGM
ANCHOR PLATE W-BEAM GUARDRAIL
Part No. Cl.346 Part No. C1168G Part No. CB42G
SLIP BASE POST NO BOLTS THROUGH POST - USE SHELF ANGLES (Part No. C1497G)
(TOP)
Part No. C1417G M20x200 BOLT & NUT
POSTS 1 & 2 Part No. C1492 & C1614 (2 POSITIONS) SPLICE CONNECTION
with (x2) M20 FLAT WASHERS X
e e it g o
Part No's. C1505 & C1520 BOTTOM POSTS 1 & 2 (8 POSITIONS PER CONNECTION)
N — . =1 ST — 7
® N ® ® L] L W
S [ L — o .
7 = . L M 3 o . °
° ! Rl Py PY x K& PY PY J
ol wls 2|8 ,
wmbxﬁ% mﬂwm B CABLE ASSEMBLY 52 Tla Tl
- s Part No. C1162 © =R
I I f—
SO SO NN YNZONZSS YNNI NS QAN
\/./\/ K \/./\/ K \. \/./\/ K //\/ K //\/ R //\/ K /./\/ N
STRUT & YOKE M20x160 HEX BOLT & NUT
=t ASSEMBLY E i Part No. C1482 (4 POSITIONS) P
Py Part No. C1454G & 4 with (x2) M20 FLAT WASHERS &
s|8 PER BOLT Part No. C1612 =a
Sl POSTS 1 & 2 L .
w [%2]
o o
[s 1 a
SOL PLATE SOIL PLATE
Part No. CI4T4G Part No. CI474G
— — POST 3 “"— POST &4 =~ POST 5 =~ POST 6 - POST 7 =
POST 1 SLIP BASE POST POST 2 SLIP BASE POST /
(BOTTOM) (BOTTOM) STEEL YIELDING POST
Part No. CI418G Part No. C1418G Part No. C1796G
(POSTS 3 TO 6)
2000 2000 3 SPACINGS AT 1333 CENTRES STANDARD POSTS & GUARDRAIL SECTIONS
RADII = é6m STRAIGHT RADIl = 40m
ELEVATION
~ (DATE 5/4/06 INGAL CIVIL PRODUCTS
Toay INGAL Civil Products ot ALD. DR - MELT TERMINAL
g 2 27181 ath Fosd Kiawee, NSW, 2232 Ausirsie STEEL YIELDING TERMINAL POST SYSTEM S
W m Talephone 61-2-9710 5556, Faosimile 61-2-9542 3667, Internet www.ingalcivil.cam.au i_._u_l_ _Zo>_l m_lOﬁ—A aLD. DMR
m % © Industrial Galvanizers Corporation Pty Ltd ACN 00D 545 415 (2006) (HECKED SRAWING o
SEBTRE o e o e et s st e | | T1THE GENERAL ARRANGEMENT FRTERAL A5 Srown .
0| INITIAL ISSUE FINSH H.D.GALV. CAB-STD-74
Ger. Descrpton Cha | oae J \ DY DT Bao Ot Dvic Oms 0w Osh Oswe O O-— S REVS




